CONSISTENCY POINTS
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Suzie Gray 5 5 10 5 5 10 12 5 12 8 77
Matt Hawthorn 5 8 8 8 10 10 10 5 12 76
Jason Langbein 8 10 5 12 5 5 10 5 10 5 75
David Paul 5 5 5 5 10 12 12 12 5 71
Michael Hoile 10 12 12 12 12 10 68
Richard Mackenzie 8 10 5 5 7 10 8 5 7 65
Andrew Wallis 5 10 12 10 10 12 5 64
Luke Dingley 5 12 6 10 5 5 5 5 5 58
Gavin Tamblyn 5 12 12 5 5 5 12 56
Chris Attrill 5 5 8 12 5 5 10 5 55
Sarah Rawlinson 10 5 8 10 12 5 5 55
Wayne Cockrell 10 12 5 8 5 8 5 53
lan Lett 12 5 10 5 5 10 5 52
John Crafter 12 5 8 8 8 5 5 51
Stephen Martin 5 5 12 5 12 12 51
Graham Phillips 7 5 5 12 5 5 10 49
Anthony Simes 12 5 5 12 5 5 5 49
Daniel Kelly 12 8 7 12 5 44
John Toshach 10 8 5 5 5 5 5 43
Stephen Handrick 7 5 5 5 5 5 10 42
Colin Bazeley 8 8 5 10 10 41
David Cullen 12 5 12 5 5 39
Alison Skinner 12 12 5 5 5 39
Craig Beddome 5 5 5 5 5 12 37
Benjamin Briggs 8 12 12 5 37
Barry Pattison 12 10 7 8 37
Rick Gibki 5 5 5 5 5 5 5 35
Simon Veitch 5 5 5 5 5 5 5 35
David Barrett 5 5 5 5 5 8 33
Victoria Veitch 5 10 5 5 8 33
John Antonio 12 5 5 5 5 32
Chris Cuthbert 5 5 10 5 5 30
Jon Herd 5 10 5 5 5 30
Daniel Tregenza 5 10 12 27
Paul Beazley 5 5 5 5 5 25
Fred Guilhaus 5 5 5 5 5 25
Chris Rogers 5 5 5 5 5 25
Len Daniels 12 12 24
Nick Tilbrook 12 12 24
Avis Pearce 5 5 5 8 23
Cliff Grant 5 5 12 22
Roger Welch 5 10 5 20
Gavin Drury 7 12 19
Ryan Beggs 10 7 17
Mark Greenwood 12 5 17
Vin Kelly 12 5 17
lan McGraw 10 7 17
Mark Rupert 5 12 17
Graeme Orchard 6 5 5 16
Don Clifton 5 5 5 15
Evan James 5 5 5 15
Sam Jeffries 10 5 15
Ray Scheuboeck 10 5 15
Barry Taylor 5 5 5 15
Anthony Willson 10 5 15
Michael Zbierski 5 5 5 15
Zoran Bauk 8 5 13
James Brodroghy 5 8 13
David Tichy 12 12
Ronald Baker 5 5 10
Ivan Clark 10 10
Scott Nolan 10 10
David Boots 5 5
Alissa Byron 5 5
Paul Caldwell 5 5
Mike Elleway 5 5
Josh Goodwin 5 5
Michael Hopkins 5 5
Nigel lelasi 5 5
Paul Murray 5 5
Christopher Swan 5 5




